1. Tn @) ond &), Domain= The sebof the Pist component
Values . Tt is guph of o Function i and only ® For o
qiven Value 3 i1 the. domain  Gne. ond omly one_ pai oF the
Porm (X, ) Appesrs in the st
@ It is gaph of o Punction . Tts domoin = 31,2,33 -
Tts image =§1,4§ (The set o the Secod wmponent-
volues ) For thstunce. I 15 gmph ot
P:34,2,35—034,4% , far=1, fe)=1 ad B3y=%.
b) It s NoT qraph o o Fundion as it s NOT coell-dedin
ot 4
C) It s noT grph o® o Punchion as it is NOT coell-defined
ot 1
@) It s NOT gagh of o funchion £: 342 23— 3%, 2,15
6s T 1s NOT detined of 2
@) It is groph ol the Punctrion £ 94,2 33— $,u,2, %
suh et Py =%, FI=2 , H3)1=y




Hence  domain= $4,2,3% ond T-®M=7%2,u%-
2. We have To shoo thet  Poxy =Ry = x =, -
oy =Pox, )y =2 gRe)) = g oy
= (R X)) = (G-PI
= IACX‘\ = 1, )
= X =%
3. We have o show VY be® Feeh, Foa=b. ()
It is enugh to notice thet
b=T, (b ={-g) by = F (&)
Hence o\zc&cb\ cA satshes (O),

-1
A\-\:erm“:l'vg. ? Is onjca-<=% Vbef_P;, Q by #£g .

4
%C%QQ)) =(% ) ) = T,y =b =y gret ()
=\ Q_L@,) + & = R s onto.

4. (Bouus Problem)
Converse o (Pfololem 2. T& B s \'na'ec\:n've, then there

\S %(B_bA 8"\3- %OP‘=IA_

& Le,{’ QAOGA be o ‘R\'Xecl Co\r\o;'-\:r&\v%\ element o A



Deine % 2—» A as Yollows

%(B\— ic&o b&/ Im()

0N be Im G)—) cohere
o Vs the wague d@mm{: of- A

st. {)-(00-—30

Nobce Thatr (F beTn (@), thea ToehA, Tw=b
and it is nigue. s R ma'echve.
Cloim - Go¥ = Iy
B (GDHer = §CGe) = o
By the detinbon of g ond the fack that
b=fe)eIm@®) ) =
Gonverse of probien 3 TP is sureckive, then Bere

IS %"B-—\?A st. Q%—I(B
. VbeB, E'Cb)q&ﬂ = VbeB, Eael? Cb\

—

= let %.B——wA , %do\ =0 -

Clote ?o%z__[(&
B Epk) =k = P)y=b. =

CSMCQ P s onto-) chr\oose, one element)



(pemarlt . In The aboe arau\men{?, we. are U&S\\r\g N OXIom

ot set H\eo{d chich (s called the oxiom of cluice . One
version o this oxiom shacbes -

let T be aselb and SA. g\oﬂ, en Fom| 6041
non— %?J% sets. ~Th ﬁnefe s o Punction

L, T U A (Un(b/wot\)— Ai)SB
1€ L
st. Pone AL P 0\V\«6 1e 1 .
5. Jes, thee s sudt Punckion ®ix—x. | ok a_ef

be o Pied Carh‘hmrg\ clement o A Lek
Peay — i% xe A

o8 XE A

o

Clam  TITm(f) = A

P yeTm®) =% Y=t forsme xeX.

xe A = %:%cmzfxe!\ Ez\c qeh
AELA = Y=F=0.EA
This l\'nrvlt‘eS I C A CT_)

ae A =¢r F@) =0 =r aeIm@)



Twis \\m?\\'e.s A C I (H) CE)
C[)/@I) —r A=TI=® -
0. (o) We have o show @0B>(Q D= (80{3)@23:% 0= O\;L.

(gD @y =@ho,) = §a) = glay)
3=(.5% ?—Co\'\ = Q-Caz\

\n 8@@\:\'\1\&

N a =0, .
\'na"ecjcl'\re,

) We have toshow VeeC,Taek, (§8)e)=c
Qunce g 15 ontn, YeeC, The® s glby=c
Sine. £ is onto Jo eh st Drcqbcyzbc.
Bs @-$)(a,)= §CF@OL)

~ (b
—c.
F. des, for instunce wnsder
Rito,1y—» R, Foo = Ghan (T %)

14 . Box) =P = Goton (Fuxg) = Gobon (T )

= JTTX = K, + kIT for some



l\n\:e,aer k _

= ’X\ =X =t \Q Qor Some. \'W\cnaer k

G<[Xl<i' é L(X|-k=° 7’ — k:o
0d Ko<l = A <Hortelrl
= L(Xz+l<j=‘k

X, = %X,+k S

Onto . From ca\m\us, You know that

) 1'l 1S Con‘[ﬂ'mwus. — B(j the mean value Jdr\e_ovem

@) lim o= —oo we have thet
X—r1~

(3) lim Pox) = 4 =0 YeeR BxeR , Fon=c
‘X—bﬁ-'-

P(.' 15 OK i# o student (P.?'efs to the %m‘)\r\ 0?— this
%nd-ian 1o show Su;a'ec\:l\n"tal :
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